BARNES Series 2020HCU

WWW.Cranepumps.com End Suction Centrifugal

BARNES * PROSSER - CROWN SERVICE PARTS

MODEL PART NO.
2020HCU 029676
@ PumpCatalog.com Questions?|Call 1-800-810-1053

Manual: 030174

Continued 2

CRANE | PUMPS & SYSTEMS ot

DATE 10/04

A Crane Co. Company  USA: (937) 778-8947 - Canada: (905) 457-6223 - International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/cce-series/2020hcu/

Series 2020HCU BAR N ES®

End Suction Centrifugal WWW.Cranepumps.com

BARNES * PROSSER - CROWN SERVICE PARTS

PARTS KIT
Seal Kit .............. P/N: 083560 (1)2,4,5,6,7,22
PARTS LIST
Model: 2020HCU P/N: 029676
ITEM QTY. PART No. DESCRIPTION
1 1 022026 Volute
2 1 021858 ¢t U-cup
3 1 021294 Impeller
4 1 019146 ¢ Shaft Seal C/INR/B
5 1 018071 + Shaft Sleeve Bronze
6 1 005163 t Slinger
7 1 021297 ¢ Square Ring
8 1 029084 Pedestal
9 1 019846 Bearing
10 8 002410 Stud 5/16-18 x 1.75” Lg
11 8 002603 Lockwasher 5/16
12 8 002501 Hex nut 5/16-18
13 1 021038 Shaft
14 1 021092 Shaft Key
15 1 019847 Bearing
16 1 019851 Snap Ring
17 1 019845 Bearing Cap
18 3 002618 Lockwasher #10
19 3 019842 Machine Screw #10-32 x .50” Lg, ZP
20 3 015000 Pipe Plug 375" NPT
21 2 003217 Pipe Plug 25" NPT
22 1 030163 ¢ Discharge Flange Gasket
Order Online: www.PumpCatalog.com
End

Ao 2 CRANE | PUMPS & SYSTEMS

DATE 4/13

A Crane Co. Company ~ USA: (937) 778-8947 - Canada: (905) 457-6223 - International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/cce-series/2020hcu/



